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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(b)

(b)

(2) Marks are indicated on right side of questions.

For linear correlation explain probable error and 8
standard error.

For a sample of 20 observations correlation coefficient 12
1s 0.3, Mean for the variables x and y are 15 and 20
respectively. The standard deviations for x and y are
4 and 5 respectively. At the time of calculation,
one observation of x 1s wrongly taken as 17 instead of
27 and one observation of y is wrongly taken as 35

instead of 30. Obtain the corrected correlation coefficient.

OR
Explain the method of finding Rank correlation 8
coefficient.
Find Rank Correlation Coefficient : 12
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2 (a)

(b)

(b)

Explain difference between correlation and regression. 8

If 3 (y-5)= Y% Y (x+2)* =480, 52=5, 12
Y ay=Y3?-53y, n=4,5=13 then find both

regression coefficients and regression lines.

OR
Write the properties of regression coefficients. 8
Two regression equations are 3x+2y-26=0 and 12

6x+ y—31=0. By using these equations,
(1) Find ¥ and y.
(2) Correlation coefficient between x and y.

3) If SD of y is 12, then find variance of x.
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(b)

(b)

(b)

(b)

State and prove addition rule of probability.

If P(4')=04, P(B)=0.5, P(4'UB)=0.7, then find

P(AUB), P(A'nB'), P(4/B"), P(A'"B),P(4nB'), P(4/B).
OR

If A and B are independent events, then prove that 7

o ¢]

(1) A and B' are also independent events.
(2) A' and B are also independent events.
Three cards are drawn in such a way that the 3rd 8

card is drawn without replacing 15t and 204 card of
52 cards. Find the probability of drawing at least 2

cards of spades.

Write the properties of mathematical expectations. 7
For a random variable x probability distribution is 8

given below :

x |-1]of1 23 [4
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(1) Find value of p.

(2) Find mean and variance.

(3) Find E(x—2)* and Var(12x-5).

OR
Write properties and uses of Binomial Distribution. 7
Five dice were thrown together 96 times. Getting 8

4, 5 or 6 numbers are considered as a success.
Then find expected frequencies of different successive

events.

JW-16080001050300 ] 4 [ 18,300 / 573-111 ]



